8 Algebra CC , 2-4

Essential Question: How do we multiply polynomials?

Do Now: Simplify each expression.

A) 2x(6x) B) 3(6x—4)
Z2:b ¢ x'o)(' 3(@&) —-3("")
12 %% X2

C) What properties did you use to simplify the expressions above?

disribvtive

STOP HERE

Multiply a Monomial by a Monomial:

When multiplying monomials, use the product rule for exponents.
o R i

Multiply coefficients and add exponents if bases are the same.

1. (-4xty)(sxyf _ 2. (6a%b)(2ab?%)(3a%)
‘-ZOXBYZ % . (6‘2‘3) . (‘Lq"{-i'as) o (bqu)
36a%h'°

Multiply a Monomial by a Polynomial:

When multiplying a monomial by a polynomial, use the distributive property.

TR
3. 2x(3x+4) 4, -Ax%(x3+3x2-1)
2x(3x) + 2x (4) S (x3) + -4x? Bx2) - (-4xD1)
LX2 + 8x

~4x% -zt + 442



THINK ABOUT THIS....

How can we represent multiplying a binomial by a monomial with a diagram?

9x 354 X(x+12)
3x(x% + 4x + 7)
9 X
2 4 7
300 0 B | e ’* ’*
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Z’lo 3x 31? -»'l"l* x2F
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Create diagrams in order to multiply the following monamials by polynomials.
e dggans nr ey

5. 2a(7a+3) 6. 7w(6w? +11w —2)

2
14a™ %64 203 + 77w 2= 14w

7. Which choice is NOT equivalent to: 5x{4x? - 2x) 20X 2 10X #
(a) 2053 - 10x2 (b) 5x¥4x-2) 20X >—10XZ

@5x3(4x- 2) 20xq‘- ioxg (d) 10x*(2x-1) 20 x3 - i.0x2-

8. The diagram at the right is composed of a square and two rectangles. Write a
polynomial expression for the total area of the figure in square units.

5x) + w(x) + % (2)
5y +x% +2X
i A

Today’s Take Away...

box diagram

We can multiply polynomials by using the distorbutive property or by creating a




